 EQ 7\b(3x+8)-\b(-\b(9+x))+\b(2-5x)\b(-4) =
= EQ  7\b(3x+8)-\b(-\b(9+x))+\b(2-5x)\b(-4) =

Раскрываем скобки.

= EQ  7\b(3x+8)+9+x+\b(2-5x)\b(-4) =

Выносим знак минус из произведения.

= EQ  7\b(3x+8)+9+x-\b(2-5x)4 =

Изменяем порядок действий.

= EQ  7\b(3x+8)+9+x-\b(-5x+2)4 =

Выносим знак минус из произведения.

= EQ  7\b(3x+8)+9+x+\b(5x-2)4 =

= EQ  7\b(3x+8)+9+x+4\b(5x-2) =

Раскрываем скобки.

= EQ  \b(21x+56)+9+x+\b(20x-8) =

Раскрываем скобки.

= EQ  21x+56+9+x+20x-8 =

Приводим подобные члены.

= EQ  42x+57 
Ответ:  EQ 42x+57 .

